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  Simplify the following. 

 

(1)  (ܽହ)ଷ  

 

(2)  (ܾଶ)ସ 

 

(3)  (ܿି଺)ହ  

 

 ଼ି(ଶݔ)  (4)

 

  ଶି(ଷିݕ)  (5)

 

 

 
  Simplify the following. 

 

(6)  (ܽଶܾଷ)ହ 

 

  ଶ(ݕଷݔ)  (7)

 

(8)  (ܽିଶܾିଷ)ିଶ 

 

(9)  (݉ହ݊ିଵ)ିଷ  

 

(10)  (ܿିଷ݀ଶ)଺ 

 



 

 
  Simplify the following. 

 
  ହ(ଷݖଶିݕଶݔ)  (11)

 

 

 

(12)  (݉ଷ݊݇଺)ଶ 

 

 

 

(13)  (ܿହ݀ଶ݁ିଷ)ିଶ  

 

 

 

(14)  (ܽିଶܾିଷܿହ)ିଷ 

 

 

 

  ହ(ଶݖଷݕସݔ)  (15)

 

 

 
  Simplify the following. 

 
(16)  (3ܽଶܾଷ)ଷ 

 

 

 

(17)  (−2ܽିଶܾଷܿଶ)ଶ  

 

 

 

 ଷ(ଷݖଶିݕଷݔ3−)  (18)

 

 

 

(19)  (5݉ଶ݊ିଷ݌ସ)ିଶ  

 

 

 

(20)  (−4ܽଷܾସܿିଶ)ିଷ 

 



 

 
  Simplify the following. 

 
(21) (2ܽଶܾଷ)ଶ × (3ܽଷܾିଶ)ଶ 

 

 

 

ଷ(ଷݕଶݔ−)  (22) ×  ଶ(ଶݕଶିݔ2−)

 

 

 

(23)  (3݉ଷ݊ହ)ଶ × (−2݉ଶ݊ିଶ)ଷ 

 

 

 

ଶି(ଶݕଷݔ2)  (24) ×   ସ(ݕହݔ2)

 

 

 

(25)  (4ܽଷܾଶ)ଶ × (−2ܽଶܾିଶ)ଷ 

 

 

 
  Simplify the following. 

 
(26)  (8ܽଶܾଷ)ଷ ÷ (2ܽଷܾିଶ)ଶ  

 

 

 

ଶ(ଶݕଶିݔ9)  (27) ÷  ସ(ଶିݕଶିݔ3)

 

 

 

(28)  (2݉ଶ݊ିଶ)ଷ × (4݉ଶ݊ଶ)ଶ ÷ (8݉ଷ݊ିଷ)ଶ 

 

 

 

ଶ(ସݖଶିݕଷݔ6) (29) ÷ ଶ(ଶݖଷݕଶିݔ3) ×   ଷ(ଵିݖଶିݕଷݔ2−)

 

 

 

(30)  (4ܽିଶܾିଷܿଶ)ିଶ ÷ (2ܽଷܾଶܿିଶ)ିଶ ÷ (3ܽଶܾିଷܿଷ)ଶ 

 



 

 
  Simplify the following. 

 

(31) ( 
1
ܽ

)ଷ 

 

 

 

(32)  ( 
1

ܽଶ)ଶ 

 

 

 

(33)  ( 
1

݉ିଶ)ସ 

 

 

 

(34)  ( 
1

݊ଷ)ିଶ 

 

 

 

(35)  ( 
1

 ଶ)ିହିݔ

 

 

 
  Simplify the following. 

 

(36)  ( 
ܾଷ

ܽିଶ)ଷ 

 

 

 

(37)  ( 
݉ିଷ

݊ଶ )ସ 

 

 

 

(38)  ( 
ଶିݔ

 ଷ)ହିݕ

 

 

 

(39)  ( 
ܿଶ

݀ିଶ)ିଷ 

 

 

 

(40)  ( 
ܽିସ

ܾିଶ)ିଶ 

 



 

 
  Simplify the following. 

 

(41) ( 
ܽିଶܾ

ܿଷ )ଶ 

 

 

 

(42)  ( 
݉ଶ݊ିଷ

ଶି݌ )ସ 

 

 

 

(43)  ( 
ଷିݔ

 ଷ)ିଶݖଶݕ

 

 

 

(44)  ( 
ܿହ݀ିଶ

݁ିଷ݂ଶ)ିଷ 

 

 

 

(45)  ( 
ܾିଷ݇ହ

ℎଶܽିହ)ଶ 

 

 

 
  Simplify the following. 

 

(46)  ( 
2ܽଶܾିଶ

3ܿଶ )ଷ 

 

 

 

(47)  ( 
ݕଶିݔ3−

ଷିݖ2 )ଷ 

 

 

 

(48)  ( 
12݉ଶ݊ିଶ

−8ܽିଷܾସ )ିଶ 

 

 

 

(49)  ( 
4ܽସܾଷ

5ܿିଶ݀ିଷ)ିଷ 

 

 

 

(50)  ቆ 
6ℎିଶ݇ିଷ

−2݉ଶ݊ଷቇ
ିଶ

 

 



 

 
  Simplify the following. 

 

(51)  ( 
5ܽଷ

2ܾଶ)ଶ × ( 
3ܾସ

5ܽଷ)ଷ 

 

 

 

 

(52)  ( 
4݉ିଶ

3݊ଶ݌ସ)ିଶ × ( 
2݉ଷି݌ଶ

3݊ଶ )ସ 

 

 

 

 

(53)  ( 
ଷݕଶݔ2

ଶିݖ5 )ଷ × ( 
ଶିݔ3

 ଷ)ିଶݖଶݕ4

 

 

 

 

(54)  ( 
ଶିݕଷݔ−

2ܽସܾଶ )ିହ × ( 
3ܽଷܾଷ

 ଶ)ିଶିݕଶݔ4

 

 

 

 

(55)  ( 
2݉ଶ

3݊ିଷ)ଷ ÷ ( 
5݉ସ

4݊ିଶ)ଶ 

 

 
  Simplify the following. 

 

(56)  ( 
2ܽଶܾିଷ

3ܿସ )ସ ÷ ( 
9ܽହܾଷ

4ܿିଷ )ିଶ 

 

 

 

(57)  ( 
ସݖଷݕଶݔ3

ଷ)ଶିݖଶିݕଶିݔ2 ÷ ( 
ଶିݖଷݕଶିݔ3

ଷݖସݕଶݔ4 )ିଷ 

 

 

 

(58)  ( 
6ܽଶܾିଶ

5ܽଷܿଷ )ଶ × ( 
3ܽିଷܾଶ

2ܾଷܿିସ )ଷ ÷ ( 
4ܾିଶܿିଷ

3ܽସܿଶ )ିଶ 

 

 

 

(59)  ( 
4ܽଷܾିଶܿଶ

ଶ)ଶݖସିݕଶିݔ3 ÷ ( 
ଶିݖସିݕଷݔ3

5ܽଶܾିଶܿଷ )ିଶ × ( 
−ܽଷିݔଶܾଷ

ܿଶିݕଶݖଶ )ଷ 

 

 

 

(60)  ( 
ଶݖଶݕݔ4

3݉ସ݊ିଷݖଷ)ିଶ ÷ ( 
ଷ݉ିଶݔ3

4݊ସݕହ )ଶ ÷ ( 
3݉ଷ݊ିଶݔହ

ସିݖଷݕ2− )ିଶ 

 


